PHILOSOPHY : COURSE STRUCTURE : CLASS— Xl T 2020-202|1

Time: 3 Hours 15 minutes

UNIT TITLE MARKS

I Argument 01

I Proposition 04

I Opposition ot Proposition 07

v Immediate Inference 08

v Mediate Inference 21

Vi Compound Arguments 04

Vil Diagram of Categorical Proposition 03

Vil Symbolic Logic and Truth Function 03

IX Nature of Inductive Argument 08

X Cause - Its Different Meaning 05

Xl Canons of Elimination and Mill’s Inductive
Methods or Experimental Methods 16

X1l Internal Marks 20
Total 100

Unit - I: Arguments ‘ Periods: 10 1

I. Argument and its different forms
I Deductive and inductive argument — nature and distinction
. Validity and Truth - difference between them

- 1
{ Periods: 20
Unit = II: Proposition L J

L. Nature of Proposition — Its different parts, characteristics of Copula

1. Distinction between Proposition and Judgment, Proposition and Grammatical Sentence
M. Classification of Propositions according to Q —

(a) Relation (b) Quality (c) Quantity
V. Four-fold scheme of classification of Categorical Propositions
V. Rules of transformation of grammatical senten-es into logical proposition
VL. Distribution of term in proposition
VII. Proposition and proposition-forms
Unit - llI: Opposition of Propositions ‘ Periods: 15

. Nature, definition and kinds of opposition of proposition
li. Traditional square of opposition
. Inference by opposition of propositions

Unit — IV: Immediate Inference r Periods: 20 7

I, Conversion, rules of conversion




1. Obversion, rules of obversion
1. Contraposition (Joint application of conversion and obversion) and rules
V. Material Obversion

Periods: 30

Unit - V: Mediate Inference

I Categorical Syllogism — Definition, Characteristics and structure
Il.  Role of middle term

. Figures of categorical syllogism

V. Moods of categorical syllogism

V.  General rules of categorical syllogism and fallacies

V1. Testing the validity of categorical syllogism

Periods: 20

Unit = VI: Compound Argument

I,  Compound Argument
Il.  Disjunctive categorical syllogism
lIl.  Testing the validity of Disjunctive — categorical syllogism

Unit = VII: Diagram of categorical proposition Periods: 05

I Boolean Interpretation of Categorical Proposition
Il.  Representation of Venn Diagram of Categorical Proposition

Periods: 05

Unit - VIII: Symbolic Logic and truth function

l. Symbols for Conjunction, Negation, Disjunction complication, Material Equivalence
1. Truth value — Tautology, Self-Contradictory and Contingent
1. Determination of truth value by truth table method

Unit — IX: Nature of Inductive Argument
Periods: 20

l. Definition of Inductive Argument

I1. Grounds of induction — Formal and material
] Marks of Scientific induction — Distinction between scientific and unscientific induction
IV.  Analogical argument and different criteria for evaluating analogical argument

V.  Concept of bad analogy

Unit — X: Cause — Its Different Meaning Periods: 25

L Cause as necessary condition
I Cause as sufficient condition
M. Cause as necessary and sufficient condition
V. Distinction between cause and condition
V. Doctrine of plurality of cause — evaluation of the view.

Periods: 30

Unit - XI: Causes of elimination and Mill’s inductive method




Method of agreement — Method of difference — Joint Method — Method of concomitant
variation — definition and explanation with symbolic and concrete example, Advantage

and disadvantage

Il.  Testing the inductive arguments by applying these methods.

I, Inductive fallacies — Bad analogy — lllicit generalization — Taking an irrelevant factor as a

cause — taking co-effects of the same cause as a cause of another effect — Post hoc ergo

propter hoc.

UNIT WISE QUESTION TYPES WITH MARKS DISTRIBUTION

' . | MCQ/ Objective ‘ LA - ‘ i | Pl
n Titl | |
e e 1 marks 2marks I 4rnarks | 6 marks | marks |
i T
I Argument 1 - - - 01
Il | Proposition 2 1 - gl 04
el TR = S e
Il | Opposition of Proposition 1] 1 1 = 07 |
IV | Immediate Inference F 1 i 08
V | Mediate Inference 3 1 1 ( 2 21
Vi | Compound Arguments ' 2 1 - ‘ - 04
———— N |
| D i
iagra r_n_of Categorical | 1 1 ) ] 03
Propositions ‘
. A, | |
| |
. Symbgllc Logic and Truth " " ) ) ‘ o |
Function [
L I — | ,
IX ' Nature of Inductive Argument 2 1 1| - I 08
S —— i . T T
X | Cause —its different meaning 1 - 1 - 05
R | | e s
| Concept of Elimination and ' ! ‘
XI | Mill's Inductive Methods or 2 1] - | 2 I' 16 |
| Experimental Methods . ,
Total Number of Questions 18 | 09 05 | 04 36
— | |
Total marks 80 |
Word limit—  Marks—1 In one complete sentence
Marks — 2 within 40 words
Marks — 4 within 100 words

Marks — 6

within 150 words




N.B:
1) Internal choice: There is no overall choice in the paper. However, there is an internal choice

of two questions of 4 marks and two (questions of 6 marks .

2) InSA, LA-l and LA-ll types, total allotted marks in each may be sub-divided, if necessary.
3) Questions should be set covering each unit.

Syllabus for Half-yearly & Pre-Board Exam w.e.f. 2020 onward

Half-yearly / Pre-Board Examination

Deductive Logic

Unit  Title
Deductive Logic
1. - Argument
2, Proposition
3. Opposition of Proposition
4. Immidate inference
5. Mediate inference
Inductive Logic
9. - Nature of Inductive Argument
10. - Cause — its different meaning

Question pattern followed in 80 Marks .

Pre-Board Exam
Whole Syllabus i.e. Unit | to XI
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ENGLISH VERSION

Group-A
Choose the correct answer (Answer in one word). 1x18=18
1. The type of argument is/are -

a. One b. Two c. Three d. Four
2. According to quantity ‘A" proposition is known as—

a. Universal b. Particular c. Affirmative d. Negative
3. The term/terms distributed in ‘O’ proposition is / are —

a. Subject b. Predicate c. Both d. None of them
4. Relation of opposition exists between —

a. Two sentences b. Two propositions c. Two terms d. Two words
5. The conversion of propositions which is not possible is -

a. A proposition b. E Proposition ¢. | Proposition d. O Proposition
6. Inan obversion, the prefix to the predicate is —

a. Non b. Not c. Non - d. Not -
7. The term which determines the figure of a categorical syllogism is —

a. Minor term b. Major term c. Middle d. None of them
8. Identify the valid mood of fourth figure of a categorical syllogism —

a. FERIO b. FESTINO c. FELAPTON d. FESAPO
9. If the Middle term of a Categorical Syllogism remains undistributed in both the premises, then

the categorical syllogism commits the fallacy of —

a. lllicit Major b. Illicit Minor

c. Fallacy of Negative Premises d. Undistributed Middle
10. Forms of compound argument is/are —

a.0ne b. Two c. Three d. Four
11. The term ‘non-exclusive’, used in the disjunctive proposition means —

a. Self contradictory b. Not self contradictory

¢. Complementary d. None of these
12. The correct Boolean interpretation of the proposition “Students are intelligent.”

a.SP=0 b. SP£0 c. $P=0 d. SP40
13. The statement form PV ™ g~=

a. Self Contradictory b. Tautologous c. Contingent d. None of them
14. The conclusion of an Inductive argument is —

a. A Universal Synthetic Proposition b. A Particular Synthetic Proposition

c. An Apriori Analytic Proposition d. None of them
15. The kinds of the ground of Inductive inference are/is —

a. One b. Two c. Three d. Four
16. A cause is—

a. An antecedent devent  b. A consequent event c. A concurrent event d. None of them
17. Identify Mill's experimental methad in the following arjjument —

ABC —abc
ADE — adc
AFG —afg




So, ‘A’ is the cause of ‘a’
a. Method of Argument b. Joint method of agreement and difference
c. Method of difference d. Method of Concomitant variation
18. Method of difference due to its fallacious application, the fallacy is —
a. Fallacy of non-observation b. Fallacy of Illicit Generalisation
c. Fallacy of taking a co-effect d. Post hoc ergo propter hoc
Group — B (Answer in 40 words) 2x9=18

15. Transform the following sentences in logical propostions:
i. Men are mortal ii. Some philosophers are poet
20. What is opposition of proposition?
21. Give an example of material ohversion.
22. Why is syllogism regarded as a mediate inference?
23. What is the fallacy of denying the antecedent?
24. Give the Venn Diagram of the given Boolean interpretation: SP=0
25. Determine the Truth Value of the following by using Truth Table: (PV~P)>V
26. What is the inductive leap?
27. Give a concrete example of Mill's method of concomitant variation.

Group-C

4x5=20
Answer each question within hundred (100) words: -

28. If the proposition ‘All men are happy’ is true, then what can be inferred about the truth and
falsity of the following propositions?
a) All men are non-happy
b) Some non-happy are not non-men
¢} Some non-men are happy
d) No non-happy is man
29. Transform the following sentences into logical form and give the converse and obverse of each, if
possible:
a) Valuable books are rarely read.
b) Orchids are not fragrant.
30. Discuss the nature and characteristics of a Categorical Syllogism.
Or,
Prove that : If both premises be particular propositions, no valid conclusion can be drawn in a
Categorical Syllogism.
31. Explain the Characteristic of Scientific Induction.
32. Discuss the qualitative marks of a cause.
Or,
What is meant by plurality of cause? Is this view is acceptable?

Group - D

Answer each question within one hundred fifty (150) words: - 6x4=24




33,
34,

35

36.

What is meant by Figure of a Categorical Syllogism? Explain with example its different kinds.
Identify the following arguments and test their validity:
a) Rambabu must be happy for he is virtuous and only the virtuous are happy.
b) Heis too weak to walk.
Or,
Explain with concrete example:
a) Fallacy of Major term
b) Fallacy of Four term
Define Mill’s method of agreement. Explain with symbolic and concrete example Mill’s method of
agreement.
Test the validity of the following arguments:
a) A red flower has no fragrance.
b) The greater the heat, the more quickly does ice melt. So heat is the cause of melting ice.
Or,
Explain with example:
a) Fallacy of lllicit Generalisation
b) Fallacy of taking co-effect as a cause.






